Czechoslovak Mathematical Journal

Hari Ballabh Mittal Some generating functions for polynomials

Czechoslovak Mathematical Journal, Vol. 24 (1974), No. 3, 341-348

Persistent URL: http://dml.cz/dmlcz/101247

Terms of use:

© Institute of Mathematics AS CR, 1974

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-GZ: The Czech Digital Mathematics Library* http://dml.cz

CZECHOSLOVAK MATHEMATICAL JOURNAL

Mathematical Institute of Czechoslovak Academy of Sciences V. 24 (99), PRAHA 15. 8. 1974, No 3

SOME GENERATING FUNCTIONS FOR POLYNOMIALS

HARI BALLABH MITTAL, Lucknow

(Received December 3, 1969)

1. Introduction. Recently, J. W. Brown [1] proved, that for the Laguerre polynomials

(1.1)
$$\sum_{n=0}^{\infty} L_n^{(a+mn)}(x) t^n = \frac{(1+v)^{1+a}}{1-mv} e^{-xv},$$

where $v = t(1 + v)^{1+m}$, m being an integer. Also, assuming

(1.2)
$$\sum_{n=0}^{\infty} L_n^{(a+mn)}(x) t^n = A(t) e^{xB(t)},$$

he proved that

(1.3)
$$\sum_{n=0}^{\infty} L_n^{(-a-[1+m]n)}(x) t^n = \frac{A(-t)}{1-B(-t)} \exp \left\{ \frac{-xB(-t)}{1-B(-t)} \right\}.$$

L. Carlitz [2], extended the results of Brown and proved that (1.1) and (1.3) hold for any m.

A natural question arises as to whether we can find results of the forms (1.1) and (1.3) for other known polynomials, m being a constant.

The present paper is an answer to this question. We have found results of the forms (1.1) and (1.3) for generalized Laguerre, generalized Gould-Hopper, generalized Bessel and Jacobi polynomials. These results hold for all values of m. The results of this paper also extend the results, which we found on another occasion [9]. There [9], we found explicit expressions of the form (1.1) for m = -1, 0, 1, 2, for generalized Laguerre, generalized Gould-Hopper, generalized Bessel and Jacobi polynomials. The treatment being formal, we shall obtain our results quite heuristically.

2. Operational formulae. Recently [8], we considered a class of polynomials $F_n(x, a, m, p_r(x))$, defined by the Rodrigues formula

(2.1)
$$F_n(x, a, m, p_r(x)) = x^{-a} e^{p_r(x)} D^n [x^{mn+a} e^{-p_r(x)}],$$

a, m, being constants, $p_r(x)$ being a polynomial in x of degree r. It is immediate that the above polynomial reduces to the generalized Laguerre polynomial [7] for m=1 and to the generalized Gould-Hopper polynomial [8] for m=0. If, however, $p_r(x)=b/x$, then (2.1) reduces to the Bessel polynomial of Krall and Frink [6]. If $p_r(x)$ be a polynomial in 1/x of degree r, then for m=2, we get a generalization of the Bessel polynomials.

In [7], we dealt with an operator T_k , defined by $T_k = x(k + xD)$, and hence such that

(2.2)
$$T_k^n \{x^{b+r}\} = (b+r+k)_n x^{b+r+n},$$

k being a constant. It is easily seen that

(2.3)
$$T_k^n = x^n \prod_{j=0}^{n-1} (\delta + k + j), \quad \delta = xD.$$

Since,

$$D^{n}[x^{mn+a}e^{-p_{r}(x)}] = x^{-n}\prod_{j=0}^{n-1}(\delta - j)\left\{x^{mn+a}e^{-p_{r}(x)}\right\} =$$

$$= \prod_{j=1}^{n}(\delta + j)\left\{x^{mn+a-n}e^{-p_{r}(x)}\right\} = x^{k-1}\prod_{j=0}^{n-1}(\delta + j + k)\left\{x^{mn+a-n-k+1}e^{-p_{r}(x)}\right\} =$$

$$= x^{k-n-1}T_{k}^{n}\{x^{mn+a-n-k+1}e^{-p_{r}(x)}\},$$

we have from (2.1), the class of operational formulae

$$(2.4) F_n(x, a, m, p_r(x)) = x^{k-n-a-1} e^{p_r(x)} T_k^n \{ x^{mn+a-n-k+1} e^{-p_r(x)} \}.$$

Giving different values to k in (2.4), we get different operational representations for the polynomial $F_n(x, a, m, p_r(x))$. If, however, we take k = mn + a - n + 1, we get the interesting result

$$(2.5) T_{(m-1)n+a+1}^n \{e^{-p_r(x)}\} = x^{2n-mn} e^{-p_r(x)} F_n(x, a, m, p_r(x)),$$

from which, by giving different values to m, we get operational formulae for different polynomials.

3. The generating functions. By making use of the Lagranges expansion formula

(3.1)
$$(1+v)^{a+1} = 1 + (a+1) \sum_{n=1}^{\infty} {a+(b+1) \choose n-1} \frac{t^n}{n},$$

where

(3.2)
$$v = t(1 + v)^{b+1}, v(0) \approx 0,$$

L. CARLITZ [2], proved that

(3.3)
$$\frac{(1+v)^{a+1}}{1-bv} = \sum_{n=0}^{\infty} {a+(b+1)n \choose n} t^n,$$

where $v = t(1 + v)^{b+1}$. Let

$$f(x) = \sum_{r=0}^{\infty} a_r x^r.$$

Then,

$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T^n_{(m-1)n+a+1} \{ x^b f(x) \} = \sum_{n,r=0}^{\infty} \frac{t^n}{n!} a_r (b+r+(m-1)n+a+1)_n x^{b+r+n} =$$

$$= \sum_{n,r=0}^{\infty} a_r \binom{b+r+mn+a}{n} t^n x^{b+r+n}.$$

Hence,

(3.5)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T^n_{(m-1)n+a+1} \{ x^b f(x) \} = \sum_{n,r=0}^{\infty} a_r \binom{b+r+mn+n}{n} t^n x^{b+r+n}.$$

Making use of (3.3), we get from (3.5)

$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T^n_{(m-1)n+a+1} \{ x^b f(x) \} = \sum_{r=0}^{\infty} a_r x^{b+r} \frac{(1+v)^{b+r+a+1}}{1-(m-1)v},$$

where $v = xt(1 + v)^m$. Hence, we have the general operational generating function

(3.6)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T_{(m-1)n+a+1}^n \{ x^b f(x) \} = \frac{x^b (1+v)^{a+b+1}}{1-(m-1)v} f[x(1+v)],$$

where $v = xt(1 + v)^m$.

Again, from (3.1), we have by putting b = m - 1.

(3.7)
$$(1+v)^{a+1} = 1 + (a+1) \sum_{n=1}^{\infty} {a+mn \choose n-1} \frac{t^n}{n},$$

where $v = t(1 + v)^m$. Putting a = 0 in (3.7), we get

(3.8)
$$v = \sum_{n=1}^{\infty} {mn \choose n-1} \frac{t^n}{n}.$$

Similarly, for a = -2, we get from (3.7)

(3.9)
$$\frac{v}{1+v} = \sum_{m=1}^{\infty} {mn-2 \choose n-1} \frac{t^n}{n}.$$

Again, following Carlitz [2], we define

(3.10)
$$B(t,c) = -\sum_{n=1}^{\infty} {\binom{(c+1)n}{n-1}} \frac{t^n}{n}$$

and

(3.11)
$$A(t, a, c, d) = \frac{(1 - B(t, c))^{a+d+1}}{1 + c B(t, c)}.$$

In view of (3.8), (3.10) and (3.11), the generating function (3.6) becomes

(3.12)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T^n_{(m-1)n+a+1} \{ x^b f(x) \} =$$

$$= x^b A(xt, a, m-1, b) f [x(1 - B(xt, m-1))].$$

Again, as is shown by Carlitz [2],

(3.13)
$$B(t, -c - 1) = \frac{-B(-t, c)}{1 - B(-t, c)},$$

and

(3.14)
$$A(t, -a, -c - 1, -d) = \frac{A(-t, a, c, d)}{1 - B(-t, c)}.$$

Therefore, by (3.12), (3.13) and (3.14), we have the operational generating function

(3.15)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T^n_{-(m-1)-a+1} \{ x^{-b} f(x) \} =$$

$$= \frac{x^{-b} A(-xt, a, m-2, b)}{1 - B(-xt, m-2)} f \left[x \left\{ 1 + \frac{B(-xt, m-2)}{1 - B(-xt, m-2)} \right\} \right].$$

Now, let b = 0 and $f(x) = e^{-p_r(x)}$ in (3.6), then

$$(3.16) \quad \sum_{n=0}^{\infty} \frac{t^n}{n!} T_{(m-1)n+a+1}^n \left\{ e^{-p_r(x)} \right\} = \frac{(1+v)^{a+1}}{1-(m-1)v} \exp \left\{ -p_r[x(1+v)] \right\},$$

where $v = xt(1 + v)^m$. Using (2.5) in (3.16), we get the general result

(3.17)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} F_n(x, a, m, p_r(x)) = \frac{(1+v)^{a+1}}{1-(m-1)v} e^{p_r(x)} e^{-p_r[x(1+v)]},$$

where $v = x^{m-1} t(1 + v)^m$.

SPECIAL CASES

4. Generalized Gould-Hopper Polynomial. Earlier [8], we considered a generalization of Gould-Hopper polynomial [5], defined by

$$(4.1) H_n(x, a, p_r(x)) = (-1)^n x^{-a} e^{p_r(x)} D^n [x^a e^{-p_r(x)}],$$

 $p_r(x)$ being a polynomial in x of degree r, a being arbitrary. $H_n(x, a, p_r(x))$ reduces to the Gould-Hopper polynomial for $p_r(x) = px^r$. In terms of the polynomial $F_n(x, a, m, p_r(x))$, we have

$$(4.2) F_n(x, a, 0, p_r(x)) = (-1)^n H_n(x, a, p_r(x)).$$

The operational formula for the relevant polynomial is

$$(4.3) T_{a+1-n}^n \{ e^{-p_r(x)} \} = x^{2n} e^{-p_r(x)} F_n(x, a, 0, p_r(x)).$$

Putting m = 0 in (3.17) and using (4.2), we get immediately the generating function; for the Gould-Hopper polynomial, to be

(4.4)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} H_n(x, a, p_r(x)) = x^{-a}(x-t)^a e^{p_r(x)} e^{-p_r(x-t)}.$$

Again, making use of (4.3), we have from (3.16), the general result

(4.5)
$$\sum_{n=0}^{\infty} \frac{t^n}{n!} H_n(x, a + mn, p_r(x)) = \frac{(1+v)^{a+1}}{1-(m-1)v} e^{p_r(x)} e^{-p_r[x(1+v)]},$$

where $v = -(t/x)(1+v)^m$, m being a constant. For m = 0, (4.5) reduces to (4.4). From (4.5), we get generating functions for the generalized Gould-Hopper polynomials of different orders.

Again, putting b = 0 and $f(x) = e^{-p_r(x)}$ in (3.15) and using (4.3), we get the general result

$$(4.6) \sum_{n=0}^{\infty} \frac{t^n}{n!} H_n(x, -a - (m-2) n, p_r(x)) =$$

$$= \frac{A(t/x, a, m-2, 0)}{1 - B(t/x, m-2)} e^{p_r(x)} \cdot \exp\left\{-p_r\left[x\left\{1 + \frac{B(t/x, m-2)}{1 - B(t/x, m-2)}\right\}\right]\right\},$$

m being a constant.

Again, using (2.5) and (4.3), we get the relation

$$(4.7) F_n(x, a, 0, p_r(x)) = x^{-mn} F_n(x, a - mn, m, p_r(x)),$$

where m is a constant. From (4.7), we get readily the relation between the generalized Gould-Hopper polynomial and other general polynomials.

5. Generalized Laguerre Polynomials. Elsewhere [7], we considered a generalization of the Laguerre polynomial, defined by

(5.1)
$$T_{rn}^{(a)}(x) = \frac{1}{n!} x^{-a} e^{p_r(x)} D^n [x^{n+a} e^{-p_r(x)}],$$

a being a constant, $p_r(x)$ being a polynomial in x of degree r. $T_{rn}^{(a)}(x)$ reduces to the generalized Laguerre polynomial of Chatterjea [3] for $p_r(x) = px^r$ and to the Laguerre polynomial for $p_r(x) = x$. In terms of the polynomial $F_n(x, a, m, p_r(x))$, we have

(5.2)
$$F_n(x, a, 1, p_r(x)) = n! T_{rn}^{(a)}(x).$$

The operational formula for the generalized Laguerre polynomial is

(5.3)
$$T_{a+1}^{n}\left\{e^{-p_{r}(x)}\right\} = n! \ x^{n} e^{-p_{r}(x)} \ T_{rn}^{(a)}(x) ,$$

 $p_r(x)$ being a polynomial in x of degree r, a being a constant.

Putting m = 1 in (3.17), and using (5.2), we get immediately the generating function for the generalized Laguerre polynomial

(5.4)
$$\sum_{n=0}^{\infty} t^n T_{rn}^{(a)}(x) = (1-t)^{-a-1} e^{p_r(x)} e^{-p_r[x(1-t)^{-1}]}.$$

Again, making use of (5.3), we have from (3.16), the general generating function

(5.5)
$$\sum_{n=0}^{\infty} t^n T_{rn}^{(a+(m-1)n)}(x) = \frac{(1+v)^{a+1}}{1-(m-1)v} e^{p_r(x)} e^{-p_r[x(1+v)]},$$

where $v = t(1 + v)^m$, m being a constant. For m = 1, (5.5) reduces to (5.4). From (5.5) we get the generating functions for the generalized Laguerre polynomials of different orders.

Again, putting b = 0 and $f(x) = e^{-p_r(x)}$ in (3.15) and using (5.3), we get the result

(5.6)
$$\sum_{n=0}^{\infty} t^n T_{rn}^{(-a-(m-1)n)}(x) = \frac{A(-t, a, m-2, 0)}{1 - B(-t, m-2)} e^{p_r(x)} \exp \left[-p_r \left[x \left\{ 1 + \frac{B(-t, m-2)}{1 - B(-t, m-2)} \right\} \right] \right],$$

m being a constant. The results in (5.5) and (5.6) are the generalizations of the results of Brown [1] and Carlitz [2].

Again, using (2.5) and (5.3), we get the relation

(5.7)
$$F_n(x, a, 1, p_r(x)) = x^{(1-m)n} F_n(x, a - (m-1)n, m, p_r(x)),$$

where m is a constant. From (5.7), we get readily the relation between the generalized Laguerre polynomial and other general polynomials.

6. The Bessel Polynomials. The operational representation for the generalized Bessel polynomials [6], is easily seen to be

(6.1)
$$T_{a+1+n}^{n}\left\{e^{-b/x}\right\} = b^{n}e^{-b/x} y_{n}(x, a+2, b).$$

Again, from (2.5), we have for $p_r(x) = -b/x$ and m = 2

(6.2)
$$T_{a+1+n}^{n}\left\{e^{-b/x}\right\} = e^{-b/x} F_{n}(x^{-1}, a, 2, -b/x),$$

and hence

(6.3)
$$F_n(x^{-1}, a, 2, -b/x) = b^n y_n(x, a + 2, b).$$

Again, making use of (6.1), we get immediately from (3.16), the following generating function for the Bessel polynomials:

$$(6.4) \sum_{n=0}^{\infty} \frac{t^n b^n}{n!} y_n(x, a + (m-2) n + 1, b) = \frac{(1+v)^{a+1}}{1-(m-1) v} \exp \left\{ \frac{bv}{x(1+v)} \right\},$$

where we have put $p_r(x) = -b/x$ in (3.16) and where $v = xt(1 + v)^m$, m being a constant. The relation in (6.4) gives us immediately, generating functions for Bessel polynomials of different orders for different values of m.

Again, putting b = 0 and $f(x) = e^{-b/x}$ in (3.15), and using (6.1), we get the result

$$(6.5) \sum_{n=0}^{\infty} \frac{t^n b^n}{n!} y_n(x, -a - mn + 1, b) = \frac{A(-xt, a, m-2, b)}{1 - B(-xt, m-2)} \exp \left\{ \frac{b}{x} B(-xt, m-2) \right\},$$

m being a constant.

7. The Jacobi Polynomials. It is easily seen that the operational representation for the Jacobi polynomial is given by

$$(7.1) T_{a+1}^n\{(1-x)^{n+b}\} = n! (1-x)^b x^n P_n^{(a,b)}(1-2x).$$

Putting b = 0, $f(x) = (1 - x)^b$, m = 1 in (3.6), we get the result of Feldheim [4]

(7.2)
$$\sum_{n=0}^{\infty} t^n P_n^{(a,b-n)}(x) = (1-t)^b \left[1-\frac{t}{2}(1+x)\right]^{-a-b-1}.$$

Also, from (3.6), we have for b = 0, $f(x) = (1 - x)^b$, the generating function for the Jacobi polynomials

$$(7.3) \sum_{n=0}^{\infty} t^n P_n^{(a+(m-1)n,b-n)}(x) = \frac{(1+v)^{a+1}}{1-(m-1)v} \left[1 - \frac{(1-x)(1+v)}{2}\right]^b \left(\frac{1+x}{2}\right)^{-b},$$

where $2v = (1 + x)(1 + v)^m t$, m being a constant.

Again, if we put b = 0, $f(x) = (1 - x)^b$ in (3.15), we get the result

(7.4)
$$\sum_{n=0}^{\infty} t^n P_n^{(-a-(m-1)n,b-n)}(x) =$$

$$= \left(\frac{1+x}{2}\right)^{-b} \frac{A\left(\frac{-t}{2}(1+x), a, m-2, 0\right)}{1-B\left(-\frac{t}{2}(1+x), m-2\right)} \left[1-x\left\{\frac{1}{1-B\left(-\frac{t}{2}(1+x), m-2\right)}\right\}\right]^{b}.$$

It is interesting to note that similar results for other polynomials can be found by the method outlined above.

I am grateful to Prof. R. P. AGARWAL for his kind guidance and encouragement during the preparation of this paper.

References

- [1] J. W. Brown: On Zero Type Sets of Laguerre Polynomials; Duke Math J., 35 (1968), 821-823.
- [2] L. Carlitz: Some Generating Functions for Laguerre Polynomials; Duke Math. J., 35 (1968), 825-827.
- [3] S. K. Chatterjea: On a Generalization of Laguerre Polynomials; Rend. del Sem. Mate. della Univ. di Padova, 34 (1964), 180-190.
- [4] E. Feldheim: Relations entre les polynomes de Jacobi, Laguerre et Hermite; Acta Mathematica, 74 (1941), 117-138.
- [5] H. W. Gould and A. T. Hopper: Operational Formulas Connected With Two Generalizations of Hermite Polynomials; Duke Math. J., 29 (1962), 51–63.
- [6] H. L. Krall and O. Frink: A New Class of Orthogonal Polynomials: The Bessel Polynomials; Trans. Amer. Math. Soc., 65 (1949), 100—115.
- [7] H. B. Mittal: Operational Representations for Generalized Laguerre Polynomials; Communicated for publication.
- [8] H. B. Mittal: Operational Formulae for Polynomials Defined by a Generalized Rodrigues Formula; Communicated for publication.
- [9] H. B. Mittal: Some Generating Functions; Communicated for publication.

Author's address: Lucknow University, Lucknow, India.